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(&) J, VE=x2dx

® [P VE—x2dx
2V3

() 77 VE+xdx

(D) joﬂ V4 + x%dx

12 dx
CN —

2+x

2. Find fes dx.

24x

(A) €3 +C

24X

(B) 2¢= +C

2+x

(C) zes +C

24X

(D) ze3 +C

2+,

(E) 3¢5 +C

3 Let F() = 22 then £1(1) is

2x3+1
(A} -1
(B) 0
(C) 1
(D)2
(E) None of the above

the parabola on or above the x-axis is given by
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1. A parabola is drawn having focus (0,2) and directrix y = 4. The definite integral representing the arc length of that portion of
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4. Let f{x) = +secdx,then f'(x) is

tan 4x

(A) 2Jsecdx

1
(B) 2+fsec4x

(C) 2vsec4x
(D} 2vsec4xtan4x

(E) None of the above

L
+ 53—x% |

5. Find lim -

(A) O

(B) Does not exist and neither o nor --co
(C) oo

(D) —oo

(E) None of the above

(A) 0
(B) ~1
(C) 1
(D) 2

(E) 3

(A) L(x) =>x+=
(B) L{x) = —%x+§
(C) L) =—2x—7

(D) L(x) =-x—~

(E) None of the above

7. Compute the linearization of f(x) = vxe*! at a = 1.

HBR

6. Find the slope of the tangent line at the point (1,1) on the graph of ™Y = 2x2 — y2.
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8. Find lim,, 52 .
(A) 0
(B) 1
(C) 2
(D) 3
(E) None of the above

(A) 0
(B) 1
(C) ~14
(D) —24

(E) 26

(A) 0
(B) —
(©)
(D) 1

(E) o

0. I the function f(x) is differentiable and £(x) ={

11. Find lim,,,» Z2EZD
(A) 0

(B) 1

(C) 2

(D) o

(E) None of the above

ax® —-6x ifx<1

then a =
bx?2+4 ifx>1 en

Arw

10. Given that the function f is continuous on the interval [1,c0), and that flx Jf©dt = «fx, then [, :o 2 (t)dt =
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12. £(x) = (x — 1)(x — 2)2(x — 3)3. Find the value of x that maximizes f'(x).
(A) 0
(B) 1
(C) 2
(D) 3

(E) None of the above

13. f(x) = x*.Find F'(1).
(A) O
(B) 1
(C) e
(D) =

E) None of the above

14. Compute the area of the region enclosed by the graphs of the given equations: y = e*, y=e %, and x = [n3.

(4) 1
(B) 5
(©)
(D) 2

(E) None of the above

15. F(x) = [, (z — 3)*(z — 4)*(z — 5)*¢*?dz. Find the value of x € [0,6] that minimizes F(x).

(A) 3
(B) 4
(C)5
(D) 6

(E) None of the above
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(A) A
(B) B
(C) A2—~B
(D) A® + B

(E) None of the above

(A) True

(B) False

(A) True

(B) False

(A) True

(B) False

(A) True

(B) False

17. The integral of a constant is a constant.

18. ¥ £ (x) = g'(x), then f'(x) = g(x).

16. Suppose lim,_,o+ f(x) = A and lim,_o- f(x) = B. Find lim,o- f {(x% —x).

19.1f f"(x) >0 forall x € [a,b] and b > q, then max [f(a), f(b)] > f(z) forall z € (a, b).

20. If f"(x) <0 forall x € [a,b] and b > a, then there exists z € [a,b] suchthat max{f(a), f(P)] < f(2).




